ESTATES AND FUTURE INTERESTS
FALL SEMESTER PROPERTY CLASSES
MULTIPLE CHOICE QUESTION BANK
Background Information

(A) All of the  questions presented here were used in prior exams

(B) I deleted questions referring to rules we will not be covering.  I left the question numbers the same to avoid having to renumber the answers.  Thus, there are gaps in the question numbers.

(C) Correct Answers and Explanations are posted online.
(D) Some of the questions on your exam will be taken wholly or partly  from this set of samples.  When I reuse sample questions, I will change the names and rearrange the answers.

(E) If you wish to do some or all of these questions under exam condition, allot about three minutes per question.  You can have the syllabus for this unit available (as I will supply it with the test).
(1) Which of the following is not a present possessory interest?

(a) Fee simple absolute.

(b) Vested remainder in fee simple.

(c) Life estate pur autre vie.

(d) Term of years on executory limitation.  

 (2) Which of the following future interests is initially held by the grantor?


(a) Right of entry.


(b) Shifting executory interest.


(c) Springing executory interest.


(d) Contingent remainder in life estate.

Questions 3-4 are based on the following grant:

In 2002, Robert conveys Yellow-acre “to Gina for life, then to Kristen for life, then to Maura.”

(3) Which of the following interests is created by the grant:

(a) Contingent remainder in life estate in Kristen.

(b) Vested remainder in fee simple in Maura.

(c) Reversion in Robert.

(d) All of the above.

(4) If Gina dies, then Maura dies intestate with no living heirs, then Kristen dies, who gets  Yellow-acre?

(a) Kristen’s heirs.

(b) Whoever Maura designated in her will.

(c) Whoever possesses Robert’s interests in the property.

(d) The state.

Questions 5-8 are based on the following grant:

In 2001, Lynne’s valid will granted Silver-acre “to my friend Toni if she lights a candle to Jesus daily in my memory in a Christian church, but if she ever ceases to do so, the property should be retaken.” 

(5) Which of the following arguments support characterizing Toni’s interest as a fee simple determinable (as opposed to a fee simple on condition subsequent)?

(a) Most states have a presumption in favor of the fee simple determinable.

(b) The future interest was retained by the grantor.

(c) The condition requires Toni to act on a continuing basis.

(d) The grant uses the word “ever.”

(6) All of the following arguments support characterizing Toni’s interest as a fee simple on condition subsequent (as opposed to a fee simple determinable) except: 

(a) Most states have a presumption in favor of the fee simple on condition subsequent.

(b) It will be difficult to determine at what point the condition has been violated.

(c) The grant is structured in two parts.

(d) Saying that the property “should” be retaken seems to leave the holder of the interest more discretion than saying that it “will” or “must” be retaken.

(e) Under the reasoning of Mahrenholz, the property is not being conveyed just for one particular purpose.

Questions 7-8 are based on the same grant as Questions 5-6 (repeated below) and the additional information that follows:  

In 2001, Lynne’s valid will granted Silver-acre “to my friend Toni if she lights a candle to Jesus daily in my memory in a Christian church, but if she ever ceases to do so, the property should be retaken.” 

Wayne is Lynne’s legal heir and the holder of the future interest created by her will.  In November 2002, Toni was hospitalized for a week and had Jeanne light the candles for her during that time.  

(7) All of the following arguments support Toni’s claim that Wayne is not entitled to retake Silver-acre except:

(a) It would be against public policy to require Toni to leave her hospital bed in order to retain ownership of Silver-acre.

(b) Wayne knew that Toni had had Jeanne light the candles for her when Toni went out of town for three days in May 2002 and Wayne had not indicated at that time that he objected.

(c) It would be against public policy to require the court to monitor any activity that takes place on a daily basis.

(d)  Toni did the best she could to fulfill the grantor’s intent.

(8) All of the following arguments support Wayne’s claim that he is entitled to retake Silver-Acre except:

(a)  Because Wayne is asserting his claim immediately, it is irrelevant whether Toni has a fee simple on condition subsequent or a fee simple determinable.

(b) Enforcing the condition does not require the court to engage in difficult inquiries about whether Toni’s actions and beliefs comply with a particular religion.

(c)  The grant literally says that Toni has to light the candles herself.

(d)  Toni had no right to receive property from Lynne, so she should be subject to nearly any restrictions Lynne chooses to impose.

Questions 9-10 are based on the following information:

In 1990, Tenny granted Blueacre “to Leslie for life, remainder to those children of Leslie who live to age 21 and their heirs.”  In 1990, Leslie had one child, Siobhan, who was 14 years old.

(9) At the time of the grant, how should the interest in Leslie’s children be characterized? 


(a) Vested remainder subject to open.


(b) Contingent remainder. 


(c) Contingent remainder subject to open.


(d) Shifting executory interest. 

(10) Suppose Siobhan turns 21 in 1997, and dies shortly thereafter, leaving all her property to Beau in a valid will.  In 2002, Leslie dies survived by no living children. Tenny is still alive. Who is entitled to possession of Blueacre?


(a) Tenny.


(b) Siobhan’s heirs.


(c) Beau. 


(d) It depends on whether Leslie had any other children who were born and died between 1990 and 2002.

Question 11 is based on the following grant:

In 2002, Bill grants Froel-acre “to Cyndi for life, then to David, but if David ever uses the property for commercial purposes, Emily can enter and take it. 

(11) David has:

(a) a vested remainder subject to divestment.

(b) a vested remainder in fee simple on executory limitation.

(c) a vested remainder in fee simple on condition subsequent.

(d) a contingent remainder.

Questions 12-15  are based on the following information:

In 1975, Lilanthi granted Teal-acre “to Michael for life, then to Michael’s children, but if Michael is not survived by any children, then to Nick and his heirs.”  At the time, Michael had no children.  In 1977, Michael has a child, Justin. In 1997, Justin dies leaving all his property in a valid will to the Red Cross. 

(12) In 1975, the interest in Michael’s children is a

(a) Contingent remainder in fee simple.

(b) Contingent remainder in fee simple subject to divestment.

(c) Vested remainder in life estate subject to open.

(d) Vested remainder in fee simple subject to divestment.

(13) In 1975, the interest in Nick and his heirs is a

(a) Springing executory interest.

(b) Shifting executory interest.

(c) Contingent remainder.

(d) Vested remainder.

(14)  When Justin is born, which of the following is then correct?

(a) Justin has a contingent remainder in fee simple.

(b) Justin has a vested remainder in fee simple on executory limitation.

(c) Nick’s interest fails.

(d) Lilanthi’s reversion divests.

(15)  When Justin dies, what happens to his interest?

(a) It passes to his heirs.

(b) It passes to the Red Cross.

(c) It is destroyed.

(d) None of the above.  

Questions 16-17  are based on the following information:

Gretchen died in 2002 leaving a valid will that included the following language: “I leave my sister Laura my house so that she will always have a place to live, but if Laura ever moves out of the house, then to my cousin Derek.  I leave my Mercedes to Derek.  I leave the remainder of my property to my friend Eric.”

(16) Which of the following arguments support treating Laura’s interest as a defeasible fee simple (as opposed to a defeasible life estate)?

(a) The grant of the house is worded differently from the grant of the Mercedes.

(b) Wills are interpreted so as to avoid partial intestacy.

(c)  There is a presumption in favor of the fee simple.

(d)  All of the above.

(17) What is Eric’s interest in the house?

(a) If a court holds that Laura has a defeasible life estate, Eric gets both a possibility of reverter and a reversion that merge into a reversion.

(b) If a court holds that Laura has a defeasible life estate, Eric has a vested remainder.

(c) If a court holds that Laura has a defeasible fee, Eric has a possibility of reverter.

(d) If a court holds that Laura has a defeasible fee, Eric has nothing.

Questions  19-21 are based on the following grant: 

In his valid will, Ed grants Stephens-Acre “to Ryan for life, then to Marc and his heirs, but if my daughter Katie marries an artist, to Katie and her heirs.”  

(19) Which of the following is true?

(a) Marc has a vested remainder subject to divestment.

(b) Katie has a contingent remainder.

(c) Katie has a springing executory interest.

(d) Ed has a reversion.

(20)  All of the following facts would be relevant to the determination of whether Ryan’s interest is best characterized as a life estate on executory limitation except: 

(a) Ed repeatedly expressed concern that if Katie (who was an artist herself) married one of her artist friends, she would starve to death.

(b) The grant to Katie does not include the word “then.”

(c) Marc is Katie’s second cousin.

(d) Ryan is eleven years younger than Katie.

(21)  If the condition that Katie marry an artist is challenged as being against public policy, which of the following facts supports treating this grant differently from the one in Shapira?  

(a) It will be very difficult for a court to determine whether someone is “an artist.”

(b) There are not very many artists residing in the town where Katie lives.

(c) Katie almost certainly would not have to compromise her religious beliefs to marry an artist.

(d) All of the above.

Question 26  is based on the following grant:
Graham grants Cross-Acre “to Mike for life, then to Eddie and his heirs if Eddie attends Mike’s funeral.”

(26) What interest does Eddie have? 

(a) Vested Remainder Subject to Divestment.

(b) Vested Remainder in Fee Simple on Executory Limitation

(c) Contingent Remainder.

(d) Shifting Executory Interest.

(e) Springing Executory Interest.

Questions 27-28 are based on the following grant:

Rebecca grants Kib-acre “to Jeannette and her heirs, but only if they take care of my widower while he’s alive.” 

(27) Which of the following arguments supports treating Jeannette’s interest as a fee simple on condition subsequent: 

(a) Most states have a presumption in favor of fee simple on condition subsequent

(b) It is very difficult to identify a particular moment at which the widower is not being cared for.

(c) The grant has two clauses.

(d) All of the above.

(28) Which of the following arguments supports treating Jeannette’s interest as a fee simple determinable:

(a) Most states have a presumption in favor of fee simple determinable. 

(b) The use of the word “only.” 

(c) The grant is almost indistinguishable from the one at issue in Mahrenholz.

(d) All of the above.

 Questions 29-30 are based on the following grant:

In 2001, Stefanie conveys Krath-Acre “to Robert for life, then to David and his heirs; but if David does not attain the age of 21, then to Travis and his heirs."  At the time of the grant, David is 15 years old.  

(29) Which of the following interests is not created by the grant?

(a) Life estate in Robert.

(b) Vested remainder subject to divestment in David.

(c) Shifting executory interest in Travis.

(d) Reversion in Stefanie.

(30) Which of the following will occur if all the parties are still alive when David turns 21 in 2007?

(a) Robert’s life estate will be cut off.

(b) David’s remainder will vest.

(c) Travis’s interest will fail.

(d) Stefanie’s reversion will divest.

Question 31  is based on the following grant:

Corey conveys Suchacre "to George for life, then to Ryan forever."  

(31) Ryan dies, leaving all his property to his friend Harris in a valid will. George then dies, survived by Corey. Who owns Suchacre?

(a) Corey, if the problem takes place “at common law.”

(b) Corey, if the problem takes place today.

(c) Harris, if the problem takes place “at common law.”

(d) Ryan’s heirs, if the problem takes place today.

 Question 36  is based on the following information:

In 1975, Rachel grants Howacre, a lot containing a general store, “to Selin for life, then to Selin’s oldest child to survive her, but if Selin or her child stop selling fireworks on Howacre every summer, my heirs can re-enter and retake the property.”  In 1975, Selin has one child, Nick.

(36) Assume that the grant was in Rachel’s will.  Rachel’s heir under the relevant intestacy statute was Joaquin.  After Rachel’s death, Selin had one additional child Ilana.  In 2000, Selin and Nick are killed simultaneously in a plane crash.  Ilana tears down the general store and builds a residence on the property.  Joaquin brings a lawsuit to recover Howacre.  Which of the following facts would be relevant to Joaquin’s chances of success?

(a)  Selin’s oldest child did not survive Selin.

(b) After Rachel died, the jurisdiction has made it a criminal offense to sell fireworks.

(c)  Rachel’s will contained a clause leaving “all the rest of my property” to the United Way.

(d) All of the above.

Questions 37-39  are based on the following grant:

In 1990, Jason leaves Nicker-Acre in a will, “to my wife for life, then to my son Tom and his heirs, but if Tom is  unmarried 3 years after my wife’s death, to my daughter Alaina and her heirs.”  The will then gives all Jason’s other property to Alaina.

(37) Assuming the condition is valid, which of the following interests exist at the time of the grant?

(a) Alternative contingent remainders in Tom and Alaina. 

(b) Vested remainder subject to divestment in Tom.

(c) Vested remainder in fee simple on executory limitation in Tom. 

(d) Reversion in Alaina.

(38) Which of the following arguments would not be relevant to the question of whether the condition should be considered void as against public policy?

(a) Tom was 11 years old at the time Jason died.

(b) At the time Jason died, Tom lived in a small town.

(c) The rest of Jason’s wife’s life plus three years is a reasonable amount of time to find a spouse. 

(d) Tom is not prevented from marrying the person of his choice.

(39) Suppose Tom marries Libby in 1995.  In 1996 Tom dies, leaving all his property to Libby in a valid will.  In 1998, Jason’s wife dies.  In 2001, on the third anniversary of Jason’s wife’s death, Alaina sues Libby for title to Nicker-Acre.  Which of the following arguments is not relevant to who owns Nicker-Acre?

(a) Tom and Libby have a child Neil, who was one of Tom’s heirs under the relevant intestacy statute.

(b) Tom is literally unmarried in 2001, because Libby cannot be legally married to a dead person.

(c) Jason’s intent regarding Tom’s acts was satisfied because Tom got married and stayed married until his death.

(d) The condition was void as against public policy.

 Question 40 is  based on the following grant:

In her valid will in 2001, Pattie grants Kid-acre:  “To Chris for life, then to my children for their lives, then to Chris’s heirs.”

(40) Which of the following interests is created by the grant read as written? 
(a) Vested remainder in life estate subject to open in Pattie’s children if any are alive at the time of the grant.

(b) Contingent remainder in Pattie’s children if there are none alive at the time of the grant.

(c) Vested remainder in Chris’s heirs.

(d) None of the above.

Questions 43-44 are based on the following grant:

In 1990, Gabriel dies leaving a valid will that says: “I leave River-Acre to Brandon so he always has a place to call home so long as Brandon doesn’t use the property for commercial purposes, then to my nephew James and his heirs if James reaches the age of 21.  I leave all my other property to my friend Myles.”

(43) Which of the following arguments supports a claim that Brandon’s interest is a defeasible fee simple (rather than a defeasible life estate)?

(a) Modern American jurisdictions presume that an interest is a fee simple absent clear evidence of intent to the contrary.

(b) The grantor cannot have intended James to take possession of the property while he still was underage.

(c) The condition regarding commercial use restricts Brandon, not Brandon’s heirs.

(d) Most American jurisdictions have eliminated the Doctrine of the Destructibility of Contingent Remainders.

(e) Modern American jurisdictions presume that a will disposes of all the testator’s property.

(44) Which of the following arguments supports a claim that Brandon’s interest is a defeasible life estate (rather than a defeasible fee simple)?

(a) The grantor’s use of the word “then” rather than “but” (to introduce James’s interest) suggests that the interest is a remainder rather than an executory interest.

(b) If Brandon’s interest is a fee simple, he can sell it and he would not “always have a place to call home.”

(c) The grantor used “and his heirs” when he wanted to create a future interest in fee simple in James.

(d) Brandon can only “live in” River-Acre while he is alive.

(e) All of the above.

Questions 45-46  are based on the same grant as Questions 43-44 (which is reproduced again below) plus the additional information in the subsequent paragraph 

In 1990, Gabriel dies leaving a valid will that says: “I leave River-Acre to Brandon so he always has a place to call home so long as Brandon doesn’t use the property for commercial purposes, then to my nephew James and his heirs if James reaches the age of 21.  I leave all my other property to my friend Myles.”

After Gabriel's death, Brandon moves onto River-Acre, where he runs an over-the-internet search business from his computer. Brandon subsequently dies without leaving a will, but James has not yet turned 21.  

(45) Assuming a court views Brandon’s interest as a defeasible life estate, and finds that Brandon’s internet business did not violate the restriction on commercial use, who owns the property at Brandon’s death?

(a) Myles in fee simple determinable, if jurisdiction destroys contingent remainders. 

(b) Myles, in fee simple on executory limitation, if the jurisdiction does not destroy contingent remainders.

(c) Gabriel’s heirs in fee simple on executory limitation, if the jurisdiction destroys contingent remainders.

(d) Brandon’s heirs in fee simple absolute, if the jurisdiction destroys contingent remainders.

(46) Assuming a court views Brandon’s interest as a defeasible fee simple and finds that Brandon’s internet business violated the restriction on commercial use, which of the following would be relevant to determining who owned the estate?

(a) Other cases interpreting “residential purposes.”

(b) Whether the jurisdiction destroys contingent remainders.

(c) Whether possibilities of reverter are devisable in the jurisdiction. 

(d) The presumption in favor of fee simple on condition subsequent.

(47) Which of the following is not a type of future interest initially held by the grantor?


(a) Reversion


(b) Right of reverter


(c) Right of entry


(d) Possibility of reverter



(48) Which of the following was not true “at common law”?
(a) The default present possessory estate was the life estate.

(b) The Doctrine of Destructibility of Contingent Remainders applied.

(c) Shifting executory interests were allowed, but springing executory interests were not.

(d) Courts recognized the traditional estate of fee tail.



Questions 49-50 are based on the following grant:

In 2005, Aaron conveys Red-acre “to Barrie for twenty years, then to Charlie for twenty years, then to Dan.”

(49) Which of the following interests is created by the grant:

(a) Contingent remainder in term of years in Charlie.

(b) Vested remainder in fee simple in Dan.

(c) Reversion in Aaron.

(d) All of the above.

(50) Assume Charlie dies leaving a valid will, then Dan dies intestate with no living heirs. When Barrie’s term of years is completed, who gets possession of Red-acre?

(a) Barrie’s heirs.

(b) Whoever Charlie designated in his will.

(c) Whoever possesses Aaron’s interests in the property.

(d) The state.

Questions 51-52 are based on the following grant:

In 2001, Kaari’s valid will granted Green-acre “to my friend Landon only if he prays daily in my memory in the chapel on the property, but if he ceases to do so, the property should be retaken.” 

(51) Which of the following arguments support characterizing Landon’s interest as a fee simple determinable (as opposed to a fee simple on condition subsequent)?

(a) Most states have a presumption in favor of the fee simple determinable.

(b) The grant uses the word “only.”

(c) The future interest was retained by the grantor.
(d) The condition requires Landon to act on a continuing basis.

(52) All of the following arguments support characterizing Landon’s interest as a fee simple on condition subsequent (as opposed to a fee simple determinable) except: 

(a) Most states have a presumption in favor of the fee simple on condition subsequent.

(b) The grant is structured in two parts.

(c) Saying that the property “should” be retaken seems to leave the holder of the interest more discretion than saying that it “will” or “must” be retaken. 
(d) Determining whether the condition has been violated might require the court to decide the difficult question of what constitutes a prayer. 
Questions 53-54 are based on the same grant as Question 51-52 (repeated below) and the additional information that follows:  

In 2001, Kaari’s valid will granted Green-acre “to my friend Landon if he prays daily in my memory in the chapel on the property, but if he ever ceases to do so, the property should be retaken.” 

Margot is Kaari’s legal heir and the holder of the future interest created by her will.  In November 2004, Landon was hospitalized for a week and, during that time, he both prayed for Kaari in his hospital room and had Natalia pray for Kaari in the chapel.

(53) All of the following arguments support Landon’s claim that Margot is not entitled to retake Green-acre except:

(a) Margot knew that Landon had had Natalia pray in the chapel for Kaari when Landon went out of town for three days in May 2002 and Margot had not indicated at that time that she objected.

(b) It would be against public policy to require Landon to leave his hospital bed in order to retain ownership of Green-acre.

(c) The condition should not be enforced literally because it is unduly burdensome for the grantee to have to be present on the property every single day in order to retain ownership. 

(d) It would be against public policy to require the court to monitor any activity that takes place on a daily basis.

 (54) All of the following arguments support Margot’s claim that she is entitled to retake Green-Acre except:

(a)  Because Margot is asserting her claim immediately, it is irrelevant whether Landon has a fee simple on condition subsequent or a fee simple determinable.

(b) Enforcing the condition in this particular case does not require the court to engage in difficult inquiries about whether Landon’s actions and beliefs comply with a particular religion.

(c)  The grant literally says that Landon has to pray in the chapel on the property himself. 
(d)  Landon had no right to receive property from Kaari, so he should be subject to nearly any restrictions Kaari chooses to impose.

Question 55 is based on the following grant:

Erik conveys Orange-acre “to Franny for one-hundred-and-one  years, but if Franny dies before that, I or my heirs can re-enter and retake the land.”

(55) Which of the following interests is created by the grant:

(a) Term of years determinable in Franny.

(b) Life estate in Franny.

(c) Life estate on condition subsequent in Franny.

(d) Reversion plus a right of entry in Erik that presumably merge into a reversion.



Questions 57-60 are based on the following grant:

Wendi grants Orange-acre “to Yoni for life, then to Aaron if he graduates from medical school, but if Aaron never graduates from medical school, then to Barbi.”

(57) If the grant takes place in 2005, all of the following interests are created except:


(a) Life estate in Yoni.


(b) Contingent remainder in Aaron.


(c) Shifting executory interest in Barbi.


(d) Reversion in Wendi.
(58) Assume that Aaron graduated from medical school, then died leaving a valid will devising all his property to Cathy.  Subsequently Yoni died intestate.  If the grant took place “at common law,” who would then have the right to possess Orange-acre?

(a) Wendi, because of the Doctrine of Destructibility of Contingent 
Remainders.


(b) Barbi, because of the Doctrine of Destructibility of Contingent 
Remainders.


(c) Cathy, because Aaron’s interest vested before Yoni’s death.  


(d) Wendi, because of the presumption favoring life estates.  

Questions 59-60 are based on the same grant as Questions 57-58 (repeated below)

Wendi grants Orange-acre “to Yoni for life, then to Aaron if he graduates from medical school, but if Aaron never graduates from medical school, then to Barbi.”

(59) Assume instead that Yoni died while Aaron was still alive, but Aaron had not yet graduated from medical school.  If the grant took place in 2005, which of the following would be true if the jurisdiction does not destroy contingent remainders?


(a) Barbi would have a fee simple absolute. 


(b) Aaron and Barbi would have alternate contingent remainders.


(c) Wendi would have a fee simple on executory limitation.


(d) None of the above. 

(60) Assume instead that shortly after the grant was executed, Wendi repurchased Yoni’s interest in Orange-acre.  If the grant took place “at common law,” and Aaron was still alive but had not yet graduated from medical school, Wendi would then have:

(a) Life estate.


(b) Life estate pur autre vie.

(c) Fee simple absolute. 

(d) Fee simple on executory limitation.

Question 61 is based on the following information: 
In 1990, Dave conveyed Topaz-acre “to Freddy for life, then to Gabe’s children alive at Freddy’s death and their heirs.”  At that time, Gabe had two children, Haydee and Isabel.  
In 2000, Haydee died, leaving all her property to Jamie in a valid will.  In 2001, Freddy died.  In 2003, Gabe had an additional child, Kaema.

(61) Assuming that Topaz-acre has not been transferred in any way besides pursuant to the information above, who owns Topaz-acre in 2004?

(a) Isabel.


(b) Jamie and Isabel.


(c) Haydee’s heirs and Isabel.  


(d) Isabel and Kaema.


(e) Isabel, Jamie and Kaema.



Questions  62-64 are based on the following grant: 

In her valid will, Laura grants Yellow-Acre “to Mary for life, then to Norman and his heirs, but if my daughter Rebecca marries an actor, to Rebecca and her heirs.”  

(62) Which of the following is true?

(a) Norman has a vested remainder subject to divestment.

(b) Rebecca has a contingent remainder.

(c) Rebecca has a springing executory interest.

(d) Laura has a reversion.

Questions 63-64 are based on the same grant as Question 62 (repeated below)

In her valid will, Laura grants Yellow-Acre “to Mary for life, then to Norman and his heirs, but if my daughter Rebecca marries an actor, to Rebecca and her heirs.”  

(63)  Which of the following facts would be relevant to the determination of whether Mary’s interest is best characterized as a life estate on executory limitation: 

(a) Laura repeatedly expressed concern that if Rebecca (who was an actress herself) married one of her actor friends, Rebecca would starve to death.

(b) Mary is 78 years old and in poor health.

(c) The grant to Rebecca does not include the word “then.” 

(d) All of the above.

(64)  If the condition that Rebecca marry an actor is challenged as being against public policy, which of the following facts support reaching the same result in this case as in Shapira?  

(a) It might be very difficult for a court to determine whether someone is an “actor.”

(b) There are thousands of aspiring actors residing in the city where Rebecca lives.

(c)  At the time Laura died, Rebecca was engaged to be married to a lawyer whom Laura despised.  

(d) All of the above.

Question 65 is based on the following information: 
In 1990, Sarah dies leaving a valid will that says: “I leave Gold-Acre to Veronika to live in so long as Veronika doesn’t use the property for agricultural purposes.”  After Sarah's death, Veronika moves onto Gold-Acre, where she runs a farmstand selling flowers and produce grown elsewhere. 

(65) Which of the following arguments is relevant to the question of whether Veronika violated the condition on using the land for agricultural purposes?

(a) In many legal contexts, “agricultural use” means growing crops to sell.

(b) To an ordinary person, a farmstand is probably seen as “agricultural.”

(c) Just prior to her death, Sarah turned down repeated offers to sell Gold-acre to a large corporation that grew vegetables on a neighboring farm. 

(d) All of the above.

(66) Which of the following was a finite present possessory interest at common law?

(a) A grant “to Gabriel forever.” 

(b) Fee Tail.
(c) Life estate pur autre vie.

(d) All of the above. 
Question 67 is  based on the following information:

In 2006,  Jamie grants Kempf-acre “to Lionel for life, then to Marielys so long as she never sells Kempf-acre, otherwise to Nadia.”
(67) At the time of the grant, Marielys has a
(a) Vested remainder in fee simple absolute.

(b) Vested remainder in fee simple determinable.

(c) Vested remainder in fee simple on executory limitation.

(d) Vested remainder subject to divestment.

Questions 68-71 are based on the following information:

In 1975, Adriana granted Ben-acre “to Caitlin for life, then to Caitlin’s children, but if Caitlin is not survived by any children, then to Daniel and his heirs.”  At the time, Caitlin had no children.  In 1977, Caitlin has a child, Edgardo. In 1997, Edgardo dies leaving all his property in a valid will to his friend Fiorella. 

(68) In 1975, the interest in Caitlin’s children is a

(a) Contingent remainder.

(b) Contingent remainder subject to divestment.

(c) Vested remainder subject to divestment.

(d) Vested remainder subject to open.

(69)  When Edgardo is born, which of the following is then correct?

(a) Adriana’s reversion divests.

(b) Daniel has a contingent remainder in fee simple. 

(c) Edgardo has a contingent remainder in fee simple. 

(d) Edgardo has a vested remainder in fee simple on executory limitation.

(70)  When Edgardo dies, what happens to his interest?

(a) It is destroyed.

(b) It passes to Fiorella.

(c) It passes to his heirs.

(d) None of the above.  

(71)  Which of the following events would make Daniel’s interest fail?
(a) Caitlin having another child who survives Caitlin’s death.

(b) Daniel dying before Caitlin.

(c) Daniel dying intestate without heirs.

(d) All of the above.  
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